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Subject Code: 4300007

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 1 (NEW) - EXAMINATION — Summer-2024

Date: 24-06-2024

Subject Name: Engineering Drawing

Time: 10:30 AM TO 01:30 PM

Instructions:

Total Marks: 70

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
Marks
Q.1 (a) | Draw a specimen title Block. 03
) | 38 iyl 20INs 0dls €lR).
(b) | Draw a regular heptagon ina 60 mm circle by Universal circle method. 04
(©f) | Yleiadd U564 U (d gl 60 HIHl ddaHi (afHd 4519 €l
(c) | The distance between and projectors of a line PQ is 65 mm. One end P is 07
10 mm above H.P. and 20 mm in Front of V.P. while other end Q is 55
mm above H.P. and 40 mm in front of V.P. Draw the projections of line
PQ. Find its true length and true inclination.
(5) | JHLPQ ol U522 A dsf {2 65 mm 8. 2115 BSL P H.P GUR 10
mm 8. Aol dlYl.ell A 121Netl HLHE 20 HLHL 2R W ASLQ H.P
GU2 55 mm 9. ¥4al V.P ofl 411 40 HL.HL. Juil PQ «il vie 1] £12). A<l
AR 18 el AL WL QAL
ula] Y1 LS 2k,
OR
(c) | Aline MN 90 mm long has its front view inclined at 45° to XY and 07
measures 50 mm. The end M is in the V.P. and 20 mm above H.P. Draw
the projections of the line.
(5) | MN 90 mm Gio{l Edl®ele] WI1N6] £9U 450 el xy d§ AAG D Wal
50 mm HIUD. vdM A v.p Ui Wadn.p GUR 20 HIHL ulell
1% €12,
Q.2 (a) | Todivide a given line of 79mm into 9 equal parts. 03
() | 79 mm <l AUINE d18sial 9 UH Lol HINHI (A1) Sdl.
(b) | Draw a regular pentagon of 40 mm sides by 3 circle method. 04
(6d) | 3aduue(d glal 40 HIH] wiiogadlsl) [ Hd yuslal el
(c) | Arectangular plate of 40 X 60 mm sides has shorter side on the H.P. and 07
inclined at 60° to the V.P. Draw the projections of the plate if it is incline
at 45° to H.P.




(5)

40 X 60 mm W19\l GuiA14 Wl HP U 251 w19y el 8. A
LUl d2§ 600 U Bslc. Wil vl €11 %) d 450 ¢l HP U
aladluil el

OR

Q.2

(a)

Show different grades of pencil available in the market with their uses.

03

()

oy Gudoy (d(qy Ase]l Wld dHell GUALDL U1 wdldl.

(b)

Draw a regular heptagon in a 55 mm circle by special method.

04

(“)

[al1e Usg(d gl21 55 HIM]l dduini [HuMd AHS18L ER).

(©)

A square plane of 50 mm side is resting on HP on one of its corner. The
plane is inclined at 45° to HP and Plan of the diagonal passing to that
corner on which it is resting is inclined at 30° to VVP. Draw the projection
of the plane.

07

(8)

50 Y14 6l19ge] AU AHAE detl 215 WRIL U HP UR HIRIH 53] 28] D.
Wl 450 o]l HP UR 251G 8 o d W % %Bell U d WIRIH 531 &) &
Ui Yl (A5 udR sclef] Alogetl 300 &l VP U oA e] B, Weiq]
FRUEEARE

03

(@)

Prepare a list of equipments useful in engineering drawing.

03

()

goy3] SIS GUAL UlbsAlofl ALE] dUR 52

(b)

Draw a conic curve when the distance of the focus from the vertex is 45
mm & eccentricity ezg :

04

(“)

U2 [2ARA[6{gell s1529] ¥idR 45 HIH] €l Wal [de@iUdl e=3/2
AR 21§ duiis elRl.

(©)

Figure — 1 shows pictorial view of an object. Draw Front view, Top view
and Right Hand side view using First angle projection method looking
from X — direction. Give dimensions as per Unidirectional method.

07

(8)

B15(cl - 1 2TeBse0] RAALHS €22 £211A B, X-(eLIHiel] o9)¢S &6l
532 21916 U185t Ugg,(cloll GUALIL 53 o2 <2, 21U < e sl
W 1%e] £ 1R Y[eASIUSAAE e, [ Yoo URHIRI (M),

OR

03

(@)

Write down an application of compass and devider.

03

()

SUIY 3o [SALBS? o1l GUALILL dud).

(b)

Draw an ellipse having major axis 120 mm and minor axis 80 mm by
oblong method.

04

(W)

Bleal QS gl Hu 348 120 HIH] 24l elefl 248 80 HIH] HR1dd)
doialla €.

(©)

Figure — 2 shows pictorial view of an object. Draw Front view Top view
and Right Hand side view using third angle projection method looking
from X — direction. Give dimensions as per Aliened method.

07

(5)

ULS5(d — 2 w{TeBs2q] ARUA €24 6{dld 8. X-[e2uHiedl asdl Al s1al
UAULL Ueg (el GUALIL 53 4191015} £ 21 Y] £9Y Wl U]
1%} £ €121 W[EAYS Ued [d Yool URHIQIN 24 (M),

Q4

(@)

Explain the use of parabola curves.

03

()

Uledldl sq o) GUIL YHoxdl.

(b)

Draw an involute of a having 40 mm diameter.

04

(“)

40 4] U1y HRIddl ddul o seidleye £,

(©)

Figure 3 shows two views of an object. Draw its isometric projections and
show necessary dimensions.

07

(5)

15(d - 3 wluBseell & £23) £2ld B, deil WIBAA (25 Bielos] €12
e %3] URHILI ¢idldl,




OR

Q.4 (a) | List the recognized size of Drawing sheet mentioning length and width 03
dimensions.
() | GULLE A USINIEell URHIBLAL GeAW 5l SIEaL Qi1 «ll Hlsd HIY
o Y Weildl.

(b) | Draw parabola by rectangle method. Base and axis of parabola are 100 mm 04
and 80 mm respectively.

(@) | GuARY Ueg(d gLl URINEL €121 VL1 ol ULdL ¥ °3] el 50
100 mm ¥l 80 mm 8.

(c) | Figure 4 shows two views of an object. Draw its isometric projections and 07
show necessary dimensions.

(5) | wilsld 4 oW s2ell A £22] £211d B. Al WIBAINRS el £12)

e %3] URHIBL vddldl.
Q.5 (a) | Explain any three types of line used in engineering drawing. 03
() | A[=1d R0 SIS Ui S16 UL AR @lgyel ol GU1L QIdl.

(b) | Draw an ellipse by concentric circle method. Major axis and Minor axis | 04
are 100mm and 70mm respectively.

(©f) | 3legd ddo Ueg(d glRLAS G0 €121, Hul 38 uiel clg el
i 50 100mm ol 70mm 8.

(c) | Theend P of line PQ 90 mm long is on HP and VVP. The line PQ is Inclined 07
at 25° to HP and 50° to VVP. Draw the projections of line PQ and find
apparent angles.

(5) |90 H1Hl diovfl PQ @l®etell ¥id HP Al VP UR 8. 3L PQ 250 &l HP
A 500 ¢f] VP U2 351361 8. 3wl PQ ol ielo] €121 Hal 2u{ldl wall
20l

OR
Q.5 (@) | To bisect a given angle 0100, 03

() | w104 WRIl 010024 g I21),

(b) | Draw a cycloid curve having a 40 mm diameter. 04

(of) | 40 H1H] ULy H1ddl ddn of UIRASEDLSS €120,

(c) | Alline AB 100 mm long is inclined at 30° to the H.P. The plan of line AB 07

makes an angle of 45° with XY line. Draw the projections of the line and
find out its inclination with V.P. The end A of line is 20 mm above H.P.
and 15 mm in front of V.P.

(5)

AB 100 mm @it{l U1l 30° U H.P 2§ dAd] 8. AB 2w lef] A)oeil XY
Al A1 45°61) WRI lstld B. Judletl B{elos] €121 Wal V.P 41 dsil
P15 2\t Judlet] vid A H.P &l 20 HLH] GUR 8. wa dlul{l 41N 15
RIN2]

(Figure -1) (Figure -2)




(Figure-3) (Figure-4)
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